SERENITY Travel Time and Comm Lag [V3.0]
	Core
	Border
	Rim

	Bernadette (2)

Ariel   (4)

Sihnon   (6)

Londinum (8)       
Osiris   (10)
Other Worlds/Moons:

Aberdeen

Harvest [moon]

Highgate

Kerry

Muir

Salisbury

Whittier
	Dyton Colony (20)       
Bellerophon (24)       
Silverhold (28)       
Hera   (30)       
Paquin   (34)       
Newhall   (36)       
Santo  (40)       
Boros  (44)
Persephone  (46) 
Beaumonde  (50)      
Verbena   (54)

Angel (58)

Space Bazaar Skyplex  (60)
Knowlan Federal Base  (66)
	Jiangyin (80)       
Greenleaf  (84)

St. Albans  (88)

Triumph   (92)       
Higgins’ Moon  (96)       
Ezra   (100)       
Regina   (104)       
Ita (moon)   (108)       
Shadow   (112)
Beylix   (118)
Three Hills (moon)  (124)
Athens (Whitefall)  (130) **
Lilac (moon)   (136) **
Deadwood (140) **   
Haven   (144) **       
Miranda (150) **



** In the known extent of Reaver space, as of 2518.

Step 1: Subtract the larger world value from the smaller to determine the Distance (D).

Step 2: Roll 1d6 and add 4 to determine the Relative Location Multiplier (RLM).  This presumes a direct flight path along charted nav-sat routes.  A ship can fly further “out in the black” to avoid running across other ships by rolling an extra 1d6 (or 2d6 for extreme distance, like in the episode “Out of Gas”) for the RLM.
Step 3: Multiply D by the RLM to get the base number of hours travel time.

Step 4: Divide the product by the ship’s Speed Class to determine how many hours it will actually take to travel from one world to another at the current time.

Step 5: Divide the result from Step 3 by 10 to determine the comm lag, the number of minutes it takes to broadcast messages between the worlds at the current moment; treat less than 1 minute as “real time” communication.
